S T UDY CENTRE
POLITICAL SCIENCE CLASS TEST -1

Which of the following is wrongly matched?

a. Social Contract -
b. Leviathan -
c. Communist Manifesto -
d. Bureaucracy -
SHOUBTT Qenewienuid HewiBLILg.

a. Fpsd QUUHSLD

b. edelg g6t

C. sbuemedl Sipldbamsd

d. &iPsMreTsabd

Match the following

A. Father of Political Science

B. Father of Political Philosophy

C. Founder of Modern Political Science
D. Father of modern bureaucracy
QUTHGHSIS -

A. oppflwed opflelweder FHhHend

B. spdlwe sdhziudden sbms

C. mafenr opflwed opfaiwemed CarBmialdhgHeul

D. pealen oiFsMralTdssHer HhHend
A B CcC D

a. 1 3 2 4

b. 1 3 4 2

C. 1 4 2 3

d 1 4 3 2

Match the following :

A. State 1.

B. Sovereignty 2.

Rousseau
Hobbes
Laski

Max Weber

e Gerom
QUBITLIGND
60610
@Loaer0GleuLIT

1. Aristotle

2. Max Weber
3. Plato

4. Machiavelli

1. oflerdLm 1960
2. Gudberd GeuLT
3. 118G

4. 1015 & Ua16060

Dicey
Machiavelli
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C. Separation of Powers 3. Bodin

D. Rule of Law 4.  Montesquieu

QUTHSHHIB :

A. opa 1. emL610)

B. @puimemiento 2. LOT& B WIAIEL6V

C. 9dam Lflalener 3. Gumgest

D. slLggar s & 4. LOTEuITEIL 6108 U
A B CcC D

a 2 3 1 4

b 2 1 3 4

C 2 3 4 1

d 1 3 2 4

Who coined the term “Political Science”?

a. Aristotle b. Bodin c. Plato d. Machiavelli
‘ordlued oflaluled’ s GFTeLemey 2 (HeauTdhawiauT?

a. gyfledLm’iged  b. Gumgesr . L9Gem BLm d. wréduiaicoe

Who was the 1st thinker to coin the term “Politics”?

a. Plato b. Socrates c. Aristotle d. Cicero
SITFWeL 6B OFTELMEV 2 (HaUTHBIUI (1pSH6e0 FbHEMGUITENT UITT?
a. UG GLm  b. gmdyesd C. oyflerdLm 1960 d. HaCym

Which of the following is a subject matter of political science?

a. Democracy b. Socialism c. Nation d. State
Letraumeuemeummleln oiyfluied Sipflelwede urt Olfleurs Sienwealg)?
a. &H6NTLd) b. Gangedaid c. BTH d. say&

Who is the “Father of Sociology”?

a. Auguste Comte b. Graham Walls

c. Arthur Bentley d. Max Weber
FelpBHaluledes Hhewd WITT?

a. oIBevg sMoBsk b. Syammid aumederd

C. QYTHT GLietnged d. Gudberd GeuLi

Telugu Desam party is an example of which of the following?
a. National party b. Regional party

c. Caste party d. Communal party
Sp&BeILuBDIeT 1HBES OHeumid CHab SLd QT BSHHHST(H LGLW?
a. Capdlwibsl g b. Mympdw &1

C. Hbml d. aglyanss s g
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10.

11.

12.

13.

14.
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Which one of the following is the minimum age qualification for votes in India?
SIPHILaUBDIOT ShSHWTaled auTdhG M OUBIISBEG GHOBHS DIENe MG HGHS
61g1?

18 b. 21 c.24 d. 30
Which of the following is advocated by Montesquie?

a. Open Ballot b. Secret Ballot

c. Single Transferable Vote d. Plural Voting
SIDHEIL_QUBMIGT 61FH LTI erd&lUuyauTed L& NSSIIL L g7
a. GeuelliLenL WTeT UTHE, b. jaflw TG,

C. ®BeDB LIBH 6UTHSE d. ueienp GUTHG,

The Greek word * Demos’ refers to

a. Government b.State  c. Authority d. People
‘Demos’ eiendetip S8y GmfF QFmed aendhd GHBSHBHI?
a. OJFTHIGLD b. oya C. OIFHBMIID d. waaseir

The book ‘Introduction to the Law of the Constitution” was given by ___

a. Montesquie b. A.V.Dicey
c. Woodrow Wilson d. Adam Smith
‘OIFweOemOLILE FLUL HHBES DIBI(PSLD’ 6160IB [HITeM6L GULDMHISILIGUT wimiT?
a. TeTEL erddluy, b. AV. e
c. o LGym alevgesr d. ey ediflg
Match the following
A. Rule by one 1. Democracy
B. Rule by few 2. Oligarchy
C. Rule by many 3. Tyranny
QUTHSHSHISH:
A. @meuT g g 1. wésenm &
B. dleor gy & 2. SO0 G &
C. ueoT g & 3. Gar@riGsmeur gl
A B C

a. 1 2 3

b. 3 2 1

C. 2 3 1

d 2 1 3
Which among the following are the devices of Direct Democracy?
i. Initiative ii. Referendum iii. Recall iv. Voting
a.1ionly b. i, ii only c.i, ii, iiionly  d. All of these
SlpsemiauBmIeT elemal GBIy HHeNTL Fullet HHOIH6T DLGLD?
1. OxT_ssa|flenip ii. QUTHIDEDBET UTHOBBLIL]
1. SHHU DIDLDSHSH60 V. auTdh@)
a. 1w’ @ b. i, ii oL BD C.i,i, illiw’ Go d. Beweu DEDRBIHHID
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15.

16.

17.

18.

19.
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Identify the incorrect pair:

a. Written Constitution - US.A
b. Flexible Constitution - Australia
c. Rigid Constitution - Switzerland
d. Unwritten Constitution - Britain
SHEUBTET Een6mTenUIdh HITEIIH.
a. eI L FFuIeoentoliL] - USA
b. Grpaug SFfuievenioi] - SLerOHCredum
C. OBp&IPT SFFuisventoliL] - Falll_FTeomhg)
d. essiuLTs oFfusvemiori] - LN 631
Match the following
Books Authors
A. Bureaucracy 1. Graham Wallas
B. Human Nature in Politics 2. Adam Smith
C. Wealth of Nations 3. Max Weber
QUTHSHHIH
L& SHBMBIB6IT o FfwiTaerr
A. o1FsyalTohsd 1. BAysmb Geusverd
B. odflweded eisHTderilesn &Heireni 2. g 1b el
C. mipaseflear Ggsveaild 3. Womdherd Gl
A B C
a 3 i 2
b 2 1 3
C 1 2 3
d 1 3 2

Which of the following is/are not the elements of the state?
1. Population 2. Territory 3. Citizenship 4. Sovereignty

a. 1l b. 2 c.3 d.4
Lestaumeussioummien 61gl/ eleneal DTHST FmpIBeT Dj6060?

1. wex6MOxHTmD 2. HeollLigd)

3. Gufilenn 4. BBUITERIENID

a. 1l b. 2 c.3 d.4

Which of the following is the best example for unwritten constitution?

a. India b. British c. USA d. Switzerland
LeiTau(hHeueTauBmIeT 61(SIILILTEH DFFweusnliiIBg Fmbs o SHTJenid 6157
a. @pgHur b. Ui yes c. oI6fdbasT d. sell greorhba

Who advocated the Open Ballot type of vote?
a. A.V. Dicey b. Max Weber
c. Montesquieu d. Abraham Lincoln
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20.

21.

22.

23.

24.

25.
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GeualILEHL WTeT 6UTehEG (LPeOBenUL! (LPETOIOTOHSHEUT WITT?
a. A\V. eLdl b. wrdhed Geu
C. LTGRO 6rO&5U, d. eyesmb Omides

Who defined the term democracy is a government “of the people, by the
people, and for the people”?

a. Nicolo Machiavelli b. Jeanbodin

c. Abraham Lincoln d. Aristotle

W&HHENTLF 6l ]  “IDHDHENTe0  1DHHEHSHTHS  CHTMHOBHBHHBUILLBH  LDEHBHENTED
SLEMLILBLD SIFFTRIGSIOTGID” 6Tl aUEDTUWIBISHHAUT UWITT?

a. HaCHTBeUT DT ULIaIEL6 b. 8eiOuTS et

C. SLITAMTD 60MIgb60T d. oifledLmged

International Human Rights Day was observed on

a. December 8 b. December 9 c¢. December 10 d. December 11
gTaiCss wald o MenseT Heib

a. 1p&FIbuT 8 b. wabur 9 C. lpgbuT 10 d. w&buT 11

Choose the incorrect pair

1. Single party system - Communist China

2. Two party system - USA

3. Multi party system - France

a. 1l b. 2 c.3 d. None of these
SHEUBTET E)eNCITenUISH SHIT6IIH

1. @BmBHEL & (Lpens - slbuLeerol.  Feurm

2. @yl &l & (pems - 9I6Ifdb T

3. ueVEHL & (s - Uymesterd

a. 1 b. 2 c.3 d. @meal gaidedenev
Article 324 of the Indian Constitution denotes

a. Finance Commission of India b. Election Commission of India
c. Attorney General of India d. President of India
BphaHw sfwevenliiiear FULdampl 324 GBIULIGag

a. BpHu HHESD b. @b CHTHe0 SLeMETUILD
C. @hsHw I LnTel Gegenyed d. @pHw GQUITE HevaT
Chief Election Commissioner was appointed by

a. Parliament b. President

c. Council of Ministers d. Prime Minister of India
HMVMID BHTHe0 HLeMemTUIEn] BIULILOIILIGUT WimT?

a. [BILTEHLOGIIBLD b. @uwysHsHmevaT

C. DIMIDFHBEH (LD d. @pHw Aysior

The Voting age in India was reduced from 21 to 18 in the year
BhHwmaled auTdseled@Gld auwgl 21 a0(BheH 18 e GHMBSSUILLL 60l
a. 1980 b. 1988 c. 1992 d. 1990
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